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QUESTION 1

What are three possible results when enabling vSphere High Availability (HA)? (Choose three.)
A. Virtual machines will migrate from one host to another as resource availability changes.

B. An ESXi host fails and some of the virtual machines restart on other hosts in the cluster.

C. A virtual machine fails and automatically restarts on another host in the cluster.

D. VMware vSphere Fault Tolerance will be enabled.

E. A virtual machine is unable to boot due to limited cluster resources.

Correct Answer: BCE

QUESTION 2

You observe that a host in a high availability (HA) cluster shows as disconnected within vCenter. The virtual machines
running on the disconnected host have not automatically restarted as expected.

What is the cause of this problem?

A. NTP was not configured on the HA cluster.

B. vMotion is not enabled on the cluster hosts.

C. The disconnected host was the master host.

D. The host is still exchanging a data store heartbeat.

Correct Answer: D

QUESTION 3

Which Cisco Unified Computing System (UCS) server model is a rack-mount server used in a Vblock System?
A. A-Series

B. B-Series

C. C-Series

D. D-Series

Correct Answer: C

QUESTION 4
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For bare metal deployments, which statement ensures VCE is able to provide reasonable-effort support?
A. The ratio of bare metal to virtualized hosts cannot be more than 40 percent.

B. A minimum of five virtualized hosts must be enabled.

C. Bare metal workloads are run on separate physical spindles, disk groups, and pools.

D. Systems cannot include hypervisor technologies other than VMware.

Correct Answer: C

QUESTION 5

What information would be obtained about vmfs data stores under the Summary tab while connected to a host in
vSphere client? (Choose two.)

A. multipathing status for the data store
B. snapshots

C. hardware acceleration status events
D. alarm actions status for the data store

Correct Answer: CD
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